EAGRAROBREERT — 2 N— ABISH —F

2

02051051880 (H) 4m#iH4H8

SR N

5

(E&)

[({EE] Hin

‘ [Riz] ¥

‘ [REBB] — | & (%) 18000 B

[A&4) 1 7% :7,000,000 @ 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 4 3 :1,100,000 @ 5 j& :700,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- o2 | WEH 1:56.0 4-5-4-4 | 37.2| 80.6 | 4 498 | WEES ()
11813 NTUXT b 7¢54.0 (=) (—) |EEFR
L:7UA—v B:x+vy bH— =REANS
. s 2 | BERE 1:56.2 4-4-4-4 |37.4| 78.7 | 8 470 | RHET (ER)
2157 HZXAL7— b 55.0 (1) (=) EEAHGEE
RRENNS—T BitwlFaF)— J—HrTr—L
- t 2 | EHBE 1:56.6 9-9-9-8 |37.4| 75.2 | 2 554 | KE—R (R®)
3 2| FURT T * ¥¢54.0 2 1/2) oy | ) A-23
LNy v¥—=Ib BiA—-XIULR BHHE
B S > 2 | AHEEX 1:56.6 2-2-2-1 |38.1| 73.2 | 1 514 | EEEER (FH)
4l5l6| 778 T=F1Y 4| %o F5=) (o) | @) HEL-25-2
L:A—-KAFA7 B:HITIFAX () HAa-KRL—Ya>AET7
o g s FLEAIT :56. 86— X . RREE (ER)
5 g | A pA1- it 2 AEAR 1 (526)9 6-8-6-6 | 37.9| 72.3 | 12 (432) :Itﬁﬁ?ﬁ)\
LTANNTTFY— B UTFLT—%Z b 77 Kikis
> ¢ 4 o2 | BEEMAR 1:57.3 3-3-2-2 [38.7| 64.9 | 5 462 | =AETE ()
61710 ¥ T RI/INUA— b 253.0 2 1/2) (o) | B $5TLy k5T 5747
RTTRTLHE— BTIALTAY g EvilLy RTp—L
RS S, t 2 | HHEEA 1:57.7 10-9-9-8 [38.5| 63.5 | 6 50 | SEHE— (ER)
7 g|Iv FEL I3 * 55.0 21/2) (—) | st
R:/GTUXN B:T7IT A1 R5T HET7—L
8 5| ISR LR o2 ﬁ%ﬁ 1:(55.4 1-1-1-2 | 39.9| 53.8 | 9 (450) Egiﬁl% E )
L:Z2¥— K770 B:T754 A TRT> aBO0%E
= . s 2 | ARK 1:58.9 8-5-6-6 |39.9| 49.7 | 3 476 | FEE= (EiH)
9l7111| 77 XEVL 54.0 @) o) | W) snwiFo—4357Ly KR
L:TANWNTTFY - B:¥v—Oah-—Ib FBEZX %Y K
oo | JIREA 1:59.5 1-11-11-11] 39.5 | 46.7 | 13 | 520 |HEBE (E®R)
Eﬂ 4 g/ xH 55.0 (3 1/2) (—) |FAfEE
RTRAIUF v BiFLIALTLR DDA
RTINS 2 | EfEH 1:59.6 6-5-8-8 | 40.5 | 45.0 1 470 | FEE=LE ()
1111 | DNTREY wY # 54.0 (1/2) 1 (=) Bk
LNZ—ka21—X B:REUTY RIT7— B2 %Y K
7 . . REFHB . —13-13— ik EF (EH)
12lglio| I-KFLY T o2 géo 2.(070).7 13-13-13-12| 37.3 | 38.7 | 10 (534) LA
RiW=5—y7 B:77>y—32-2X J—HrT - L
st . 1919 ~ ;
130 9| 74 2%x—7 [B] #H o2 %&lﬁ) ¥ (21.010/.49) 12-12-12-12| 37.7 | 36.7 | 7 (434) Eﬂmii}é ()
R:Z5TV—=F1 B:FAHIVIZR HET77— L
@ 71 L
) 50.3-37.5
NA> 24 L | 12.9-12.0-13.9-13.9-13.0-12.8-12.8-12.1-12.6
@ 1—F—@&BIEf
13=7r= (x5,6)10(7,13) (1,8)11,2,3-4-9=12
Pol=5r= (x5,6)10,7(1,13,11)8(2,3)-4=9=12
30—+— (¥5,6,10) (7,13) (8,11)1(2,3)-4=9,12
41—+ — (5,%6,10) (7,13)-(8,11) (1,2,3)-4=(9,12)
[ RN
B OB 13 770M 714K 7-13 1,520H e & 5-8 800M &R 2-7-13 11,440H
1 B 13 260/ 2-13 930M B & 7-13 6,030 B 13-7-2 91,750/
7 390H 2-7 1,180M B H 13-7 11,4908
2 240M
ABICOVWTHDTERERROODE, THEBLE WV,




